Here we will determine whether Passive Sign Convention (PSC) or Active Sign Convention (ASC) is being used for these devices.
PSC occurs when the current enters an element’s positive terminal.

ASC occurs when current leaves the positive terminal.

First label all the devices as ASC or PSC.

Device a is ASC.

Elements b, c, and d are PSC because current enters their positive terminals.

Device d is ASC, and device f is PSC.
Now we’ll write the power for each of these.

Power is just voltage * current.

We read those off from the given values.

In element (a), P = 5 * 5 = +25 W.

Since we’re under ASC and P > 0, the device is delivering power.

In device (b), P = 9 * 0.2 A = +1.8 W.

Since we’re under PSC and P > 0, element b is absorbing power.

We’re looking at a battery here, so this indicates that the battery is being charged.

In element (c), P = -16 * -4 = +64 W.

Since we’re under PSC and P > 0, the source is absorbing energy.

For device (d), P = -3 * 3 = -9 W

Since we’re under PSC and P < 0, the device is delivering energy.

For device (e), P = -10 * 10 = -100 W.

Since we’re under ASC and P < 0, the device is absorbing power.

Since this is a resistor, we know that our conclusion is correct because resistors can never deliver energy.

For our final device, P = 12 * 12 = 144 W.

PSC says that our device is absorbing power, for P > 0.

